
God of 
Wonders 





Equals the average height which is 5õ11õõ or 71 inches or 0.00112058 Miles 
or 1,803.4 average grains of sand 



A human hair is 0.001 inches in diameter  

It would take 71,000 hairs side-by-side to equal the average human wingspan 

The average human head has 100,000 hairs 

 

 

Letõs Go Small 



An average Atom is 0.000000003937 inches to 0.000000019685 inches in diameter or it 
would take 3,606,807,213 Atoms to equal an average human wingspan 

 

 



An average Proton is 0.00000000000003937 inches (thatõs 13 0õs) 

 

 



An average quark and electron is 0.0000000000000001102 inches (thatõs 15 0õs) or 
644,283,120,000,000,000 quarks to equal the average human wingspan 

 

 



This is the smallest theoretical item we can measure it is  

0.0000000000000000000000000000000006363 inches (thatõs 33 0õs!!!) or 
111,582,590,000,000,000,000,000,000,000,000,000 Planck units to equal the average human wingspan 

 



The average diameter of Earth is 7,926 miles or approximately 7,073,118 people or 
502,191,360 inches. 

 

Which contains an estimated 700,500,000,000,000,000,000 grains of sand (thatõs seven 
quintillion five quadrillion)  
  

Now Letõs Go Big 


